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Instructions:

· Attempt the questions in MS word without showing any calculations and upload the MS Word file on SIC under the icon of “upload assignment” 

· No screenshots or pictures of hand written paper will be acceptable.

· Answers to the short questions should be attempted briefly.
· Write data, test you are using(z, t, or chi square ),  table values and final answer in numerical.
                                        PART A                 (10)
Choose the best answer.

 1. The process of estimation in statistics is associated with

    a. Population parameters               b. Sample statistics           c.  Descriptive statistics

 2. A range of values used to estimate the characteristic is referred to as 
   a.  Point estimate           b. Interval estimate           c. Unbiased estimate

 3. When sample size is large , for estimation we normally use

  a. t distribution              b. z distribution          c. Chi square distribution

 4.  When confidence interval is at 99% , the value of z /2 is

  a.  1.96                           b. 2.58                        c. 1.65 
 5.  Chi square distribution is 
  a.  Symmetrical              b. Asymmetrical         c. uniform

 6.  We cannot determine the  sample size for mean ,  if
 a.  Std. deviation is unknown          b. confidence interval is unknown    c. Both are unknown
 7.  An economist is interested in studying the incomes of consumers in a particular region. The population standard deviation is known to be $1,200. A random sample of 36 individuals resulted in an average income of $15,500. What will be the 98% confidence interval for the mean income?                  (2)

a.
$12,355 and $14,756

b.
$15,966 and $ 15,034

c.
$14,000 and $16,112

d.
$14,670.5 and $15,329.
  8.  Suppose z /2 = 1.96  ,  p^= 0.68 , and error is 0.05 the sample size(n) would be

 a.    300                    b.   350                             c.  334                                      (2)
                                                            PART B

Q1: (a) A production department wants to check the defects in a particular type of part. A random sample of 500 parts was taken out of which 125 were defected. Construct 75% confidence interval for the proportion of defective parts.    (4) 

        (b) Differentiate between     (3+3)

· Z test and t test

· Mean and standard deviation
Q2: (a) A dentist likes to know the average number of fillings for his patients. He took a sample of 90 patients  that show an average of 5 fillings with a standard deviation of 1.2 fillings. Determine  90%  confidence interval for mean fillings per patient.      (6)
       (b) The diameter of a two years old Sentang tree is normally distributed with a Standard deviation of 8 cm. how many trees should be sampled if it is required to estimate the mean diameter within ± 1.5 cm with 99% confidence interval.     (4)
Q3: (a) Variability of  Carbonated content present in cans was estimated. Find 90% confidence interval for the variance of all such cans if a sample of 21 cans is selected 

And it shows a standard deviation of 1.3ml.              (5) 

       (b)   Find the tabulated value of          (5)
· Chi square       Confidence interval =95%   and Degree of freedom=18  
· T value            Confidence interval= 50%   and degree of freedom= 22 
· Z value            Confidence interval=70%
· Z value  when z= -1.78   
Q4:(a)Write a brief analysis of the subject “statistical inference” in your own words.   (4)
(b) The brightness of a television picture tube can be evaluated by measuring the amount of current required to achieve a particular brightness level.  A random sample of 10 tubes indicated a sample mean 317.2microamps and a sample standard deviation is15.7microamps. Find  99% confidence interval estimate for mean current required to achieve a particular brightness level.    (6) 
